ITB2211: Information Technology for Business I
Assignment #5 is due on Thursday, October 16, 2014 @ 5 pm
Section A
1.
The CPU consists of


(a)
input, output and processing


(b)
control unit, primary storage and secondary storage


(c)
Control unit; arithmetic logic unit and primary storage


(d)
input, processing and storage

2.
Which of the following is true about primary storage


(a)
it is a part of the CPU


(b)
It allows very fast access to data


(c)
It is relatively more expensive


(d)
all of the above

3.
Which of the following is the most powerful type of the computer

(a)
main frame

(b)
super conductor


(c)
micro computer

(d)
super computer
4.
Which of the following gives the maximum number of different units of information that can be conveyed with “n” bits?


(a)
2n

(b)
4n + 1

(c)
8n


(d)
16n + 1
5.
Arithmetic logic unit



I
perform arithmetic operations



II
store data



III
perform comparison

IV
communicate with input devices

Of the above, the correct one is


(a)
I only


(b)
II only


(c)
I and II only

(d)
I and III only
6.
The term 'memory' applies to which one of the following


(a)
logic


(b)
storage


(c)
input device


(d)
output device
7.
A collection of wires that connects several device is called


(a)
link


(b)
bus


(c)
cable


(d)
port

8.
Non volatility is an important advantage of


(a)
CCDs


(b)
magnetic tapes and disks


(c)
magnetic bubbles

(d)
both b and c

9.
In comparison to the internal (main) memory, tape or disk memory is


(a)
slower and more expensive


(b)
slower and less expensive


(c)
faster and more expensive


(d)
faster and less expensive

10.
One of the main features that distinguish microprocessor from microcomputers is


(a)
words are usually larger in microprocessors


(b)
words are shorter in microprocessors


(c)
microprocessor does not contain I/O devices

(d)
computers are not fully integrated

11.
Super computers are mainly useful for


(a)
mathematical intensive scientific applications


(b)
data-retrieval operations


(c)
input-output intensive processing


(d)
all of the above

12.
Which of the following storage is volatile


(a)
semiconductor memory

(b)
floppy disk

(c)
CD-ROM

(d)
core memory

13.
The difference between memory and storage is that memory is …. and storage is

(a)
Temporary, permanent

(b)
Permanent, temporary

(c)
Slow, fast

(d)
All of above

14.
The smallest unit of binary data is the

(a)
bit


(b)
nibble


(c)
byte


d.
word

15.
L1 is known as ________.

(a)
primary cache


(b)
secondary


(c)
DRAM


(d)
SRAM

16.
One Nibble is:

(a)
Two bits

(b)
Four bits
(c)
Eight bits

(d)
Sixteen bits
17.
IC chips used in computers are usually made of


(a)
Lead

(b)
Silicon

(c)
Chromium

(d)
Gold

18.
A 64-bit word consists of ________

(a)
4 bytes


(b)
8 bytes

(c)
10 bytes

(d)
12 bytes

19.
A kilobyte also referred to as KB, is equal to


(a)
1000 bytes


(b)
1024 bytes


(c)
2048 bytes


(d)
512 bytes

20.
One Gigabyte is approximately equal is


(a)
1000,000 bytes


(b)
1000,000,000 bytes


(c)
1000,000,000,000 bytes


(d)
None of these

21.
What is the control unit's function in the CPU?

(a)
To transfer data to primary storage

(b)
To store program instructions.


(c)
To perform logic functions.


(d)
To decode program instructions.

22.
Which of the following statements is true?


(a)
Minicomputer works faster than Microcomputer


(b)
Microcomputer works faster than Minicomputer


(c)
Speed of both the computers is the same

(d)
The speeds of both these computers cannot be compared with the speed of advanced computer

23.
The memory of a computer is commonly expressed in terms of Kilobytes or 
Megabytes. A byte is made up of


(a)
eight decimal digits


(b)
eight binary digits


(c)
two binary digits


(d)
two decimal digits

24.
Register is a


(a)
Set of capacitors used to register input instructions in a digital computer


(b)
Set of paper tapes and cards put in a file


(c)
Temporary storage unit within the CPU having dedicated or general 


purpose use

(d)
part of the auxiliary memory

25.
What minimum number of bits will be needed to convey 57 units of information?


(a)
3


(b)
4


(c)
5


(d)
6

26.
How many bytes of data can a 128–bit chip process in a single machine cycle?


(a)
4


(b)
8


(c)
16


(d)
32

27.
The biggest drawback to using the binary numbering system for computer operations is that it:


(a)
has long and confusing strings of 1s and 0s


(b)
has long and confusing strings of 2s


(c)
is difficult to convert


(d)
is difficult to handle

28.
A collection of 8 bits is called


(a)
byte


(b)
 record


(c)
word


(d)
nibble

28.
Which of the following represents the pattern for conveying 3 bits of information?


(a)
000
100



(b)
000
001
010
011



001
101




100
101
110
111



010
110



011
111


(c)
000
100




(d)
000
011
110




001
101




001
100
111





010
110



010
101






011
111

Section B
1.
Convert 1 Exabyte (Eb) to Terabytes (Tb)

2.
How many bytes of data can a 128–bit chip process in a single machine cycle?

3.
What minimum number of bits will be needed to convey the following units of information?


(a)
50

(b)
77
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